Sections 5.3–5.5  Even Answers (Mostly!)
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Section 5.3

Class Exercises

1. none

2. one

3. none

4. one

5. one

6. two

7. one

8. none

9. one

10. none

11. none

12. two

13. 
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or 
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14. no solution, Y is acute

and 
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15. no solution, A is acute

and 
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16. 
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17. 
[image: image6.wmf]28.9,78,65

rRT

=Ð=°Ð=°


or 
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18. no solution, J is obtuse
and h > j

19. With an obtuse triangle,

the longest side (say ‘a’) is 

opposite the largest angle, 

say A, but 
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20. 30 ft

Section 5.3

Practice Exercises

2. one

4. none

6. none

8. none

10. one

12. two

14. 
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or 
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16.
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Section 5.5 Even Answers (Mostly!)
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Section 5.5

Class Exercises

1. 48
2. 144

3. 30

4. 31

5. 75

6. 182

7. 3.9

8. 28.4

9. 39

10. 101

11. tripled area

12. 492 cm2
13. 128.7 in2
Section 5.5

Practice Exercises

2. 204

4. 1130

6. 550

8. 1998

10. 1139

12. 294

14. 12.5

16. 6.6

18. Solve for angle A:
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 Then 

use the Law of Cosines 

to find side a but the 

information must 

determine a unique 

triangle.

20. 164 in2
22. 429.8 cm2
24. The area is 18 

times greater.
25. 
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26. 29.248.35 ft2
28. 114.1

30. 124.41 ft2
32. 113.69 in2 
18.� EMBED Equation.DSMT4  ���


or � EMBED Equation.DSMT4  ���


20. none, C is acute and 


                    � EMBED Equation.DSMT4  ��� 


22. A right triangle if the opposite side to angle A were exactly equal to the height, say � EMBED Equation.DSMT4  ���.


24. 2 ft


26. 116 ft


28.� EMBED Equation.DSMT4  ���


30.� EMBED Equation.DSMT4  ���


32. google anyone?


34. If the side opposite the obtuse angle isn’t longer than the proper altitude, there won’t be 2 triangles.


36. 153 ft


38. 13.8 ft


40. Drop an altitude to side, c. Let x + y = c. 


� EMBED Equation.DSMT4  ���


41. Drop an altitude outside the triangle. (It’s getting late!)


42. Use the Law of Sines


and substitute in…


43. One astronomical unit (1 AU) is the average distance from the Earth to the Sun (about 93 million mi). 1.765 AU


44. Draw 3 radii from the ‘incenter’ to the legs. Draw 3 lines from the incenter to the vertices.


A = ½ radius � EMBED Equation.DSMT4  ��� (a+b+c)


which is the sum of all six right triangles. 


45. Use the Law of Sines once the 2 angles and one opposite side are given.











Test Yourself 5.3


2. � EMBED Equation.DSMT4  ���


4. � EMBED Equation.DSMT4  ���


6. 480 ft


8. � EMBED Equation.DSMT4  ���


10. 210 ft


12. one


14. no, a < b sin A





Section 5.4


Class Exercises


1. � EMBED Equation.DSMT4  ���


2. � EMBED Equation.DSMT4  ���


3. � EMBED Equation.DSMT4  ���


4. � EMBED Equation.DSMT4  ���


5. � EMBED Equation.DSMT4  ���


6. � EMBED Equation.DSMT4  ���


7. � EMBED Equation.DSMT4  ���


8. � EMBED Equation.DSMT4  ���


9. 114.0 yd


10. 49o


11. 17 ft


12. 574 ft


13. Law of Cosines would allow an angle calculation given three sides.





Section 5.4


Practice Exercises


2.� EMBED Equation.DSMT4  ���


4. � EMBED Equation.DSMT4  ���


6.� EMBED Equation.DSMT4  ���


8. � EMBED Equation.DSMT4  ���


10. � EMBED Equation.DSMT4  ���


12. 59.7


14. 539.3 ft


15. �








16. 24 ft


18. 21 in


20. Isosceles 


       with a = b


22. 692 ft


24. 3203 mi


26. 32o


28. 20 nautical mi


30. 32o


32. 941 mi


34. 1735 ft


36. 21o


38. 273.5 mi


40. b = 34, c = 54


41. Use the Law of Cosine to substitute 


cos B = � EMBED Equation.DSMT4  ���


It’ll clean up!


42. See #41 above


cos C = � EMBED Equation.DSMT4  ���


43. From pt A drop a � EMBED Equation.DSMT4  ���(h) to the extension of � EMBED Equation.DSMT4  ���. Let ‘x’ be the extension distance to ‘h’ from pt C.


h2 + (x+a)2 = c2 also  x2 + h2 = b2 so b2 + 2ax + a2 = c2 .


� EMBED Equation.DSMT4  ���


where � EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ��� The minus sign!


44. 1525 m or 1596 m





Challenge 5.4


1. Save this until Chapter 6!


2. 63/65








16. 735


18. 368


20. 231, 13.6





Chapter 5 


Test


1. A=22o, b=104, c=11 2. C=78o, a=23, b=31


3. A=87o, b=68, c=71


4. A=50o, B=56o, C=74o


5. A=52o, B=76o, b=18


6. 204 ft


7. one


8. two


9. 446 ft, 323 ft


10. 34o


11. 365 ft


12. 95 in2


13. 6111 ft2


14. 224 cm2





Challenge


259 cm2 





Chapter 5


Cumulative Review


1. B


2. A


3. D


4. E


5. A


6. C


7. D


8. E


9. B


10. D


11. B


12. C


13. D


14. E


15. A








34. 650.3 in2


36. 279 ft2


38. 114 in2


40. 21


42. 145


43. ex/ 3-4-5 rt � EMBED Equation.DSMT4  ���


with A = 6 & P = 12. 


vs an isosceles triangle with base = 6 and height = 2, then A = 6 also, but P = � EMBED Equation.DSMT4  ���


44. Input lengths: a,b,c and compute the semi-perimeter:  � EMBED Equation.DSMT4  ���. Finally compute and output (print/display) 


� EMBED Equation.DSMT4  ���


46. 1631 ft


48. 51


50. 71


52. 43





Test Yourself 5.5


2. A = 84o, B = 59o, 


    C = 37o


4. B = 54o,C = 113o


     a = 5


6. 54 cm2





Chapter 5


Summary & Review


2. A=32.2o,B=57.8o


    c = 27.8


4. 18 mi


6. 137 ft


8. two


10. one


12. none


14. Y=27o, Z=86o


       x = 20.3
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